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I- English with Fun

B noE

IR FRMSCFURER, JCWA . MRE—T g, R
MATLAE Hw# Z RIBEA MR Z 4, L & s Ty .

_\$ﬂ

FXRRMNMEE, EBEEPXFH. PXNFHIE
APIRHEDR : (—) RIEF R BB mE A (Z) R
FHRRERIB TP

R BT A A F R0 (DBH AR, BF R,
XHE, EQE—H NFTEE, _FHEEH BRI H
F)(QBER, BER, EATFRER, E=K A=A, 8
BETR—SRRN HF): 5%,

Bep WA B R F ki (D) EFIF =" (i
FAEREEERH AR Q)+ ElH—BH—~"E"(%F L
BT, THRINLF, PERMAERNET); (3)%
USERG B RERFEAM. Kdhdfkhk, HES5H
THRZ(8"):%%.



I wozn M

SRR AT TR, S R AR | 5 FIR ’
v SR e ]

() 408 B im] B T B (B A 2591w S 2 ) 1) 2 gy
MHR., (DI 1 were in the sun and you were out of it,

what would the sun become? —Sin. (2) What makes a road

broad? —=The letter *b". (3) Why is the letter “t” like an is-
land? —Because it is in the middle of “water" %%,

() AR B ) ) A DG 2 L BB T 0 4 B (X B o S 5E 4
—FE). #AN:(1)What is the most difficult key to turn? —A
donkey. (7% : donkey /& ¥ EB AU R key X1F):(2)
What tables do we often see in fields? — Vegetables. ( vege-
table) ; (3)What word is it from which the whole muy be taken
away and yet some will still be left? —Wholesome— (whole)
SOTTeE.

AL, BIA =R F iR IR A A TR A

(—)Ff i B Ay 28 A T EREER. N
MR Fik. 40 (1)What begins with T,ends with T,and
is full of T(tea}? —Teapot. (T F3k, T 4R, $§ teapot iX 1
FRHRTH ¢ W T, ELERE, BAKHT tea
[tea F1 T [R5 ), X B E B FEL T, IR EEA®E
WHH), B LR FEWE T Tlrea)”, XEERIF R M2
WRRH  H P SO T R R 4 X 35 %) (2) What is
be-
cause it is a mile long between the first letter and the last letter
of this word. ([ ZF @A T & BRHFER, D) mile
F1.)(3)What word of five letters has six left after you take

the longest word in the English language? — Smiles
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two letters away? —Sixty. (six[-;(y] (4)YWhat word of five let-
ters has only one leflt when two letters are subtracted? —
Stone. ([stJone) (55(3) ., (4) #6280 8 3th BE F1 7 & | XA
ST A R R B B )

( )RR S 2 A (B IR A TR LR et
dinl AR RIRY A ) i i ik, TR Ak R
BB ) B F : What word becomes shorter instead of longer

when you add some more letters to its original spelling?

The word"short”. (Adding 2 letters to it, it becomes “shorter”;
adding 3 letters,it becomes “shortest”. )

( =) PABE S 12k (crossword, MY crossword puzzle)

PR TEE REBA TR AR, XRE N KIE
T RATRIFEE, BA R, B A Smt, A m 4 R
o MIERTEMERS , WREH L EHE T, I E— &
2 b TEEI, BT — DRI GF B T/ 1 i s
PP T A, ATTH Fik . T SFR RFEMIUE,
HWREBRZMMUN, L. F A H. B0 EERE—M
A X TR — NDUEIR I, 8 A (5] 04 2 i 4% o
thF ke,

HERKE ARFRELEBRXRBRAMNLE, 2
SHRN—FHXUNE, KEBEXMBERLE, RO
G— WA T 3, A AR, S TRER. £
S5 [T B ] , R ARR Blat A T4 Kk e HoAt i
P& e A RARFZ G, FAH W MBS F ikt 4 Nk &
HERNBEAEK T LIS . REMEOEXE R Ching



| nexe Ml

Daily, FLF Arts & Culture lRB, Si—EH WBiFk, 35

6 H 30 H, SR g 6629 B, HARAD, TERE,

WRERH—ABT .,

ABIIRE T 12 AR RAN T, LIRIEE . TR
IR , 2B BT R A B 5 i , 81/ A8 IE S R AECH 78,
7 ELIE SRS B AR R — 355 R, TR ) L BB F
i, A — RN R (AT 8) /08, T B A i
A ERRRH R

| SXTEHR

BT CFWR, TR UM RE N, BBl
L EFEFBUEVEHEMER, REXKH OB SR~
Wo AT BKIETEHE B R F IO b B R
SCT W, PR A MR, EERIAELUTILA
E:
(=) FEER 4] bR A BT, RS AR —#,
LIRS XA —
THA UEX, GETE?
TW.AEEX . X¥EFH!
THEX,GEX . EEF? §,
HIE U RE R X — A, Bl
Tom Brown says his brother is a silly donkey.
(A% - A BA LA O B HF R L B SP.)

Tom Brown, says his brother,is a silly donkey.
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(A% A B M AU, 2 — L EY.)
(D)W FI AR —F L,
WERATTE RS X F . BIRIAN fodk a4 HiE
ARG BRI B OR. — W, — A% E e
B, MARBRUAREICEESERER L, hERETLUERE
i GEDMENTOBMEE 6 HE 8 E T ME
FHAGBRAERE REREFT. WA TEBMFEE TR
BIEEEXR, MANEENFANELRECH THEHE, FES

— RGeS, ROk fb il R E 2R, |
EMNREEFEH METRES T, HHES, AR
“B TG WY LAY A A A T M B T — F X
PR

P B RIS WA , B0 : How do you improve the
quality of your beer?

[ put two“t”s in the beer so as to
make it better. (beer — betzer); 5%,

()X F R REEFR, KK EEN, R E
R, RALRIE,

BREETINPT. ERELSHRMANMEFEE
EHRADEER(ZERHNRAE), THE b S YL
HERRRLE, BT . EZAHIE, Hbwd, Pl EEs
RYBESRIE T B 0, M 2, ZEMBEHRIER, B TR

A—RNECRAERR, MOERR” BERBE. R,
PERERR, BB B R BEEIE " (e, “ KR
B, ERR " R(=ER O RN —4E, A=
A ERFE, ARSI R, RN E . KR,



I FLEE ‘I

BRI EE R, ERA T T RS, A%FE KA .
Wl 1)

REHE , KPR A T 30, A P B3
FWEAR , AT LA 2B 2 BRI F 7k el 2 A R el A L L 54 AT
7 ERE TR TSRS

KiFAEFAEE. #la.

(1)

A.T can approve that twice ten is equal to twice eleven.
B.1 don’t think you can.
A.Look! Twice ten is twenty and twice eleven is twenty-two
(twenty, too) .
(3 : B HE twenty-two 5 twenty, too IR H—iK.)
(2)
Teacher: “Tom, name the four seasons. "
Tom: “Salt, mustard, pepper, and vinegar. ”
(BN EHBRL NN FHNEF, MK spring, sum-
mer, autumn and winter. i F season @55 “#bk”, 2 K %4
18] seasoning 7 “WBk & VBN "B E, UG BERT
£ ITR AR )

(3
Woman: “ Young man, I'm looking for a small brown dog with

one eye. "
Young man: “Since he is only small you'd better use two eyes!”
(FE: BREBAREE — RS T B L +ER—R
HER R e /)N K, BB G L0 S e B A VG BB B 4% )

-~
.
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(4)

"™ Snake charmer:“Be careful with that trunk, porter. [t contains

a ten-foot snake. ”

Porter: “You can’t kid me snakes don’t have any feet.”
G0z THAEA ESH AL, 8410 TR AR N
K10 RMRT )

PRI, BB M ST WAk A s . XFEREA
NEBRFFDE R — L0, tin 6 A B4 (4509
¥ shiRg AR AEA JERIAE R LR A
BRZS), ANESMIER, %, MAXSEEORERD
B R FER U IR, R SO B . BB

(—)FiAMAEL
What color would you paint the sun and the wind? ——The
sun rose and the wind bule(blew).

(k- 53 rise[ 7+, FHE J#IRE 6824 rose, BIEHF SRIBEH K
BUOHBETHEL, shiF blow Bk, 5K, F R & A
blew, ¥ 5 blue[ % & ][6]%F )

(D)FHAMHE

(1)What is the difference between a nail and a bad box-
er? —One is knocked in and the other is knocked out. (i :
“knock in"H & Wik %, WA 2" MR E, T “knock out”™ Ml
BT g AT, SR AN ERENMAT.)

(2)When is a doctor most annoyed? When he is out
of patient. (¥ : patient BE“ /A" BT R4, BH“ZW" i
D2 B 'EF out of HAMM out of patient J& , BE ] ML %
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CWAT T RN QLT B B R L)
(=) T BRI
BIEMFARRFEHRETRN . FNES—IFER
P FRHENEE— i, R B R 2 AR KE A
Fo XA LS| AR B ICFWERK . HRWT BT

(1)Why should the letter “m” never be put into refrigera-

Because it will change ice into mice.

(2)Why is the letter “r” indispensable to friendship? ——
Because without the “r” a friend will be a fiend. (3 : friend” i
B TR FE r ER T fiend BER” T

TXRREAEZ-ER P —ERRFENERRFH T
HOL, R~ K, KK, /=% BLIERELI 40T
Wk

KT HIE DUBM TR F WK, B & 2385
MR T — S S PR THEZRERZLUREH
(EHEEIGE) MM . MEREXS, BENEEY
LR O] REE 2 B th— AT O SRR '

tor?

kY
l: l"“
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“.| Part One Riddles and Games on Words

What begins with T, ends with T,and is full of T?

Teapot.

What word of five letters has only one left when
two letters are subtracted” ?

Stone — (st) one.
* gubtract o, MR, MR, BB

What is the longest word in the English language?
~——Smiles — because there is a mile between the first
and last letters on this word.

1 occur once in every minute, twice in every mo-
ment, and yet not once in a hundred thousand years.
What am [?

The letter M.




